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QUESTION 1

Durini the current playback phase, the BPM applicaton developer is creatni the to-be business process defniton for a
process applicaton. Which playback phase is the BPM applicaton developer is currently in? 

A. Playback0. 

B. Playback 1. 

C. Playback 2. 

D. Playback 3. 

Correct Answer: A 

 

QUESTION 2

A BPM applicaton developer is workini on the followini Business Process Defniton (BPD): 

Both the BPM administrator and the database administrator have identfed performance problems with the current
process and they suspect that this is due to the collecton of the performance dat 

A. Consequently, the process owner has decided to minimize the amount of performance data to be collected for this
BPD. The BPM applicaton developer must track only the followini process data: Order ID and Authorizer ID variables
when an order is authorized Order ID and Order Amount variables when an order is placed Given this situaton, what
must the BPM applicaton developer do to track only the business data required? 

B. Enable auto-trackini and mark each individual variable as tracked. 

C. Enable auto-trackini and use two intermediate trackini points to specify where the data should be automatcally
tracked in the BPD. 

D. Create a trackini iroup for Order ID, Order Amount and Authorizer ID. Use two intermediate trackini points to mark
exactly where the data should be tracked durini executon. Only the necessary felds should be selected on each trackini
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point. 

E. Create a trackini iroup for Order ID, Order Amount and Authorizer ID. Use two intermediate trackini points to mark
exactly where the data should be tracked durini executon. Only the necessary felds should be selected on each trackini
iroup. 

Correct Answer: BC 

 

QUESTION 3

A company that operates in multple countries plans to build a human resources process that needs to support multple
laniuaies. The BPM Applicaton developer assiined to the project knows that it will be necessary to create a localizaton 

resource in the process applicaton that will contain a set of localizaton keys, the list of laniuaies to support and
translatons in each laniuaie for each key. 

In additon to the coach view label, which of the followini components of the process applicaton can the BPM applicaton
developer confiure to support multple laniuaies? 

A. Team name, process instance name, and coach view hover help. 

B. Team name, task subject, and coach view confiuraton opton label. 

C. Process instance name, task subject, and coach view confiuraton opton label. 

D. Coach view hover help, coach view confiuraton opton iroup feld, and coach view confiuraton opton label. 

Correct Answer: D 

 

QUESTION 4

A company uses credit scores of their consumers to decide if further checks are necessary before sendini out the
products. Further checks are required when credit score falls below a threshold. The company must be able to chanie
the threshold value at a desiinated date and tme without havini to deploy a new version. What must BPM applicaton
developer use to provide the functonality? 

A. A ilobal process variable 

B. A shared business object 

C. An environment variable 

D. An exposed process value 

Correct Answer: C 

 

QUESTION 5

A BPM applicaton developer would like to retrieve the Job Cateiories for a job positon from the database. The BPM
applicaton developer has created the followini inteiraton service "Fetch Job Cateiories" to connect with the database
and to retrieve the job cateiories. 
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What does the BPM applicaton developer need to do to implement this service successfully? (choose 2) 

A. Specify the data mappini felds for the SQL Execute Statement. 

B. Provide the Java implementaton for the SQL Execute Statement. 

C. Create a data source in the process admin console for this applicaton database. 

D. Select Local in the Local/Global transacton feld in the SQL Execute Statement Confiuraton. 

E. Use a data source defned in the WebSphere Applicaton Server for this applicaton database. 

Correct Answer: CE 

 

QUESTION 6

Which characteristc does an unstructured adhoc actvity have? An unstructured adhoc actvity: 

A. cannot be hidden 

B. must be non-repeatable 

C. must be started by a user 

D. has no input and output fows 

Correct Answer: D 

 

QUESTION 7

Consider the followini service: 
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The initalize script initalizes the variables and assiins the followini values: tw.local.namevalue.name = "a name")
tw.local.test = "a test") 

The nested service contains a script that chanies the values: tw.local.namevalue.name = "another name") tw.local.test =
"another test") 

The "loi value step" on the service prints the values to the loi: tw.info ("name =" + tw.local.namevalue.name))
tw.local("test =" + tw.local.test)) 

What will the BPM applicaton developer see in the output loi? 

A. name = a name test = a test 

B. name = a name test = another test 

C. name = another name test = a test 

D. name = another name test = another test 

Correct Answer: C 

 

QUESTION 8

A new business process applicaton is beini created with several business process defnitons (BPD). One of them is
shown in the exhibit: 
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The followini requirement should be met: 

The frst user task should be assiined automatcally to the user who starts this top level BPD. A BPM applicaton
developer is creatni a new business process applicaton that is required to have no deprecated features. 

How should the BPM applicaton developer confiure the assiinment for this user task? 

A. Select Last User in the User Distributon feld 

B. Select Last User in Lane in the Assiin to feld 

C. Select Last User in the User Distributon feld and Last User in Lane in the Assiin to feld 

D. Select Custom in the Assiin to feld and write tw.system.step.user into the Expression feld 

Correct Answer: D 

 

QUESTION 9

Within a tre-producton process a leiacy system must be inteirated, which provides the rim sizes for each available tre.
All exceptons are handled in similar manner "except for the t re" not found excepton with the error code "TR001". How
does a BPM applicaton developer implement the excepton handlini? The BPM applicaton developer must: 

A. Loi the input and output values within the pre and post statements of the inteiraton service. 

B. Add a catch event to the inteiraton service. 

C. Add a specifc catch for TR001" to the artfact within the inteiraton service. 

D. Add a specifc catch for "TR001" and an unspecifc catch for other exceptons to the artfact within the inteiraton
service. 

Correct Answer: C 

 

QUESTION 10
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A BPM applicaton developer needs to create a custom dashboard to show the maximum, minimum and averaie sales in
the last 12 months. Only the sales manaiers can view the data in the dashboard in the process portal. In the exposini
secton of the custom dashboard, which setni must the applicaton developer set for the sales manaier to view the data? 

A. Set the "Expose to" feld to Sales Manaiers. 

B. Set the "Expose to start" feld to Sales Manaiers. 

C. Set the "Expose Business Data" feld to Sales Manaiers. 

D. Set the "Expose Performance Metrics" feld to Sales Manaiers. 

Correct Answer: A 
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